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Skill Questions

1 Show that-23 is a rational number by expressing it as a fraction in the form
% where p and q are integers.

2 Show that 55 is a rational number by expressing it as a fraction in the form %
where p and q are integers.

3 Show that —3% is a rational number by expressing it as a fraction in the form
% where pand gare integers.

4 Show that 0.245 is a rational number by expressing it as a fraction in the form
%where pand g are integers.

5 Show that 9%is a rational number by expressing it as a fraction in the form
% where p and q are integers.
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6 Whyis 0.3421 a rational number?

7 Whyis-1.2 arational number?

8 Whyis 3,456% a rational number?

9 Whyis-37 arational number?

10 Whyis 0.8 a rational number?
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Applied Questions

11 Which one of these numbers is a rational number that lies between 3.5 and
2
337

a) 3.7
b) 3.6
c) 3.43
d) 3.67
e) 3.49

12 Show three rational numbers that are close to —4 on the number line.

13 Which one of these numbers is a rational number that lies between —0.8 and
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14 Show three rational numbers that are close to 3.785 on the number line.

< } >
3.785

15 Kayla says “- %is not a rational number, because it is negative and it is not a
fraction.”

Explain whether or not Kayla’s statement is correct, including explaining any
mistakes.
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Answers
e )
Question Question Answers Standard
number
1 Show that -23 is a rational number -% 6.NS.C.6
by expressing it as a fraction in the
form % where p and q are integers.
2 Show that 55 is a rational number 5—15 6.NS.C.6
by expressing it as a fraction in the
form % where p and q are integers.
3 Show that -3is a rational number | -2 6.NS.C.6
by expressing it as a fraction in the
form % where p and q are integers.
. . 245
4 Show that 0.245 is a rational 1000 6.NS.C.6
number by expressing it as a fraction
in the form % where p and q are
integers.
5 Show that 9% is a rational number % 6.NS.C.6
by expressing it as a fraction in the
form % where p and q are integers.
6 Why is 0.3421 a rational number? It can be expressed as 6.NS.C.6
%fraction in the form
3 where a and b are
integers; _3421
10,000
\- 4
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e )
Question Question Answers Standard
number
7 Why is —1.2 a rational number? It can be expressed as 6.NS.C.6
a fraction in the form
%where aand b are
integers; - %.
8 Why is 3,456% a rational number? It can be expressed as 6.NS.C.6
a fraction in the form
% where a and b are
integers; %
9 Why is =37 a rational number? It can be expressed as 6.NS.C.6
a fraction in the form
% where a and bare
integers; -%.
10 Why is 0.8 a rational number? Itis a repeating 6.NS.C.6
decimal and can be
expressed as fractions
in the form 3 where a
and b are integers; 5:
11 Which one of these numbers is a b) 3.6 6.NS.C.6
rational number that lies between
3.5and 337
a) 3.7
b) 3.6
c) 3.43
d) 3.67
e) 3.49
12 Show three rational numbers that Answers will vary. 6.NS.C.6
are close to —4 on the number line.
Example answer:
) _4:1 > -4 -375 -35
< t 4 ' +
\o /
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e )
Question Question Answers Standard
number
13 Which one of these numbers is a e) —% 6.NS.C.6
rational number that lies between —
0.8 and - 22
a) -16
b) -0.81
c)-0.9
d) -0.2
e) - %
14 Show three rational numbers that Answers will vary. 6.NS.C.6
are close to 3.785 on the number
line. Example answer:
P , R 3.78 3.79 4
) 3.785 ST Tares
15 Kayla says “—3% is not a rational Explanations will vary. 6.NS.C.6
number, because it is negative and it
is not a fraction.” Example answer:
Kayla is incorrect,
Explain whether or not Kayla’s because -3 7 can be
statement is correct, including written as the improper
explaining any mistakes. fraction —%, which
can be shown as the
ratio of two integers, so
it is rational.
\ J

thirdspacelearning.com/us/

Curriculum-aligned online one-on-one math lessons delivered by specialist STEM tutors



Do you have a group of students who
need a boost in math?

Each student could receive a personalized lesson every week from our
specialist one-on-one math tutors.

\/ Differentiated instruction for each student

\/ Aligned to your state’s standard

\/ Scaffolded learning to close gaps

Speak to us

[ thirdspacelearning.com/us/
e +1929-298-4593

9 hello@thirdspacelearning.com

‘ THIRD SPACE

v LEARNING



